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Ans X 1. SQPR
X 2 RSQP
v 3 SRQP
X 4 QRSP

Question |D : 54107882
Status : Answered
Chosen Option : 3

Q.7 5= vt & 90 F po Hul F w4 F ot H T @ ) SRt ® P, QRS #ibg R mar §
9 amw B AT A & F e sPE REe o

TF TS T oM (P) T A P W FT WV (Q) g FOE ¥ F F 77 B o s wtpem
F ®Y dT F A 2 (R) F TP F @ uiamd # 57 T F1 # A & 74 T o7, (9)

Ans 1. QSPR
X 2 PRSQ
X 3 RSQP
v+ QSRP
Question ID : 54107885
Status : Answered
Chosen Option : 4
Q.8
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0 fr=faas st & &7 o8 75 &) PQRS & w0 # o3 It & &7 98 78 ¥ == g
Fr wer # e w5 § TS e

T & FEe T & faw (P) s BT (Q) v e s # T @ (R) fEEE S 7 (S)
Ans o 1. SPRQ

X 2 PRQS

X 3. QRPS

X 4 SPQR

Question ID : 54107884
Status : Answered
Chosen Option : 1

Q.8 FGrafefis wit & =z =97 S1. 96, P,OR it & & v & o¥fag §1 871 27 S8 77 77 BB ¥ 5=
1 o T TR REest & ¥ ue Reew ® g Tmed aet F @i aifthE a1 A

31 -wgmaaﬁ‘wagaﬁgﬁﬁtﬁl

P - 37 2t & 3ty @90 dn

Q - 308 Fo=nl & € U s H OEEH # )

R - 57 i ¥ 9ge & Sor 9T W T 9

8 - OnF W T o1 T TF T 30 3w e O
%6 - U T FFE ww & A d

Ans of 1. RQPS
X 2 RPQS
X 3 PQRS
X 4 SPQR

Question ID : 54107881
Status : Answered
Chosen Option : 1

Q.8 5= el # 757 F 3o 0 F A F sEeN W= T omn ) T WP, Q, R, S e Ber e
2 amw B A & F B st R

TS (P) PR S s QAR F AT T TR F rEE W AE T A £ (R) i
e =7 w1 $ iy &1 (9)

Ans XK 1. OPRS
v 2 PRQS
X 3 RPQS
X 4 SQRP

Question ID : 54107886
Status : Answered
Chosen Option : 2

Q.8 TrmfrEE Tt 7 5 75 A9 5 PQRS F w9 H §S0T JSOnt 5 55 59 AT ¥ 5 aan
3 @ = ok wtw ww # RS SR

aﬁémmaﬁg—mm}ﬁﬁr%mﬂﬁwﬁ(a)Wmﬂmmm
T FIeT 21T I (R) AR I H (S)

Ans
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v 1 SQFR
X 2 QSRP
X 3. SQRP
X 4 RPQS

WWW.exammix.com

Question ID : 54107883
Status : Answered
Chosen Option: 1

Q.8 == wodit # aww & To 3 F w7 F sEtw o G A §) A=t P, Q, R, S ifey Rr mam i
4 T F IO FA 3 F e 5RE BEeT )

gite % Wy 3T FHaTT BT FTF (P) I 309 79 # TITH AT o (Q) SR AT Hee
% SHF F (R) T T1 ST A 7 (S)

Ans X 1. RPSQ
v 2 SPRQ
X 3. PRSQ
X 4 PSRQ

Question |ID : 54107887
Status : Answered
Chosen Option: 1

Q.8 fawafafae s & o7 797 $1, 56, P.OR K 5 ¥ w7 # wHfad #1 51 &t 56 71 #7 g & &
S R w Fees # ¥ ow T W SRR B T W s At e A

1 - 3@ v% #3 Rfw a3 g2

P - 2% 3 @

Q - TR FHEFT AE HA T S

R - g ¥ fme 7 & &R

8 - z=3 @iy @ 7 e = o @ am
26 - FIffT o9 EET I WAHTD?

Ans - X 1. SRQP
X 2 QSPR
V'3 RSQP
X 4 PQRS
Question ID : 54107878
Status : Answered
Chosen Option : 3
Comprehension:
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A G a0 are@Teyr #r et I T WeAT F Scal AT

gH HaXdl &I FHEIET FEe= gl 3 g ag FHEtdr HAE AT
Taenf@ar & g1 7 off| gART FAFER FETT FT TooT The Tl
TEAT o, 36T T FealdT UT 3HFT HiEded FToiad o AT
3ol & gE-ga, men-faren, gfoafar s sfageefaar #
SATEAT el &1 3827 o1l 3ThHr foomg ) X F9rair Fr 3%
oot oY Hivg 3R TEET 3HF O F HEEr F ¥ 3¢ I8
Fopeadr HT IR F gT WA o7| Fel ovehr == FIar o
oT, & STe AT 33 & o) amEErEr $ Zger a-a 3R
d-als W R & A, 3% f-wrE gEea 7 g o
HETTRT &7 7T 39T 36 =07 gy 1 T wee ot 98
ot JopsT 7, 35 off e &, A 3T off amaranC §- I e
#T FoTAT F FET Hr FT 2

SubQuestion No: 86

L = B FEldr geoet 27

Ains g
FaS’ i)
X 2 mfgeT
X 3 He=ddl
v o gl
Question ID : 54107889
Status : Answered
Chosen Option : 4
Comprehension:
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A G a0 are@Teyr #r et I T WeAT F Scal AT

gH HaXdl &I FHEIET FEe= gl 3 g ag FHEtdr HAE AT
Taenf@ar & g1 7 off| gART FAFER FETT FT TooT The Tl
TEAT o, 36T T FealdT UT 3HFT HiEded FToiad o AT
3ol & gE-ga, amen-faren, gfoafar s sfageefaar #
SATEAT el &1 3827 o1l 3ThHr foomg ) X F9rair Fr 3%
oot oY Hivg 3R TEET 3HF O F HEEr F ¥ 3¢ I8
Fopeadr HT IR F gT WA o7| Fel ovehr == FIar o
oT, & STe AT 33 & o) amEErEr $ Zger a-a 3R
d-als W R & A, 3% f-wrE gEea 7 g o
HETTRT &7 9o 39T 36 =07 gy 1 T wee ot 98
ff 77T 7, 395 o 557 7, 3T 3%F of e - 3E wer
#T FoTAT F FET Hr FT 2

SubQuestion No: 87
% fogm 1 #7 &
Ans K1 gam
K 2 T=aT
W 3 3T
&K 4 FTuT

Question ID : 54107891
Status : Answered
Chosen Option : 2

Comprehension:
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A G a0 are@Teyr #r et I T WeAT F Scal AT

gH HaXdl &I FHEIET FEe= gl 3 g ag FHEtdr HAE AT
Taenf@ar & g1 7 off| gART FAFER FETT FT TooT The Tl
TEAT o, 36T T FealdT UT 3HFT HiEded FToiad o AT
3ol & gE-ga, amen-faren, gfoafar s sfageefaar #
SATEAT el &1 3827 o1l 3ThHr foomg ) X F9rair Fr 3%
oot oY Hivg 3R TEET 3HF O F HEEr F ¥ 3¢ I8
Fopeadr HT IR F gT WA o7| Fel ovehr == FIar o
oT, & STe AT 33 & o) amEErEr $ Zger a-a 3R
d-als W R & A, 3% f-wrE gEea 7 g o
HETTRT &7 9o 39T 36 =07 gy 1 T wee ot 98
ff 77T 7, 395 o 557 7, 3T 3%F of e - 3E wer
#T FoTAT F FET Hr FT 2

SubQuestion No : 88
Y v # ot g i
XK A

v 2 OremeER
& 3. el
X 4 FO-gaT
Question ID : 54107892
Status : Answered
Chosen Option : 2
Comprehension:
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A fedr 71w aTearer @7 9geT T T WAl % 3o SIS

gH HaXdl &I FHEIET FEe= gl 3 g ag FHEtdr HAE AT
Taenf@ar & g1 7 off| gART FAFER FETT FT TooT The Tl
TEAT o, 36T T FealdT UT 3HFT HiEded FToiad o AT
3ol & gE-ga, men-faren, gfoafar s sfageefaar #
SATEAT el &1 3827 o1l 3ThHr foomg ) X F9rair Fr 3%
oot oY Hivg 3R TEET 3HF O F HEEr F ¥ 3¢ I8
Fopeadr HT IR F gT WA o7| Fel ovehr == FIar o
oT, & STe AT 33 & o) amEErEr $ Zger a-a 3R
d-als W R & A, 3% f-wrE gEea 7 g o
HETTRT &7 7T 39T 36 =07 gy 1 T wee ot 98
ot JopsT 7, 35 off e &, A 3T off amaranC §- I e
#T FoTAT F FET Hr FT 2

SubQuestion No: 89
% TTEmrer # RrEE avherd # E E7
Ans XK1 e & weeT &
X 2 orgdr 3 Fr
X 3 gled & el gfasEr &
v 4 graETET SfET &

Question ID : 54107893
Status : Answered
Chosen Option : 1

Comprehension:
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A fedr 71w aTearer @7 9geT T T WAl % 3o SIS

g Haldl &I FHEIET FEa=r gl 3 g ag FHEldr HAET AT
Taenf@ar & g1 7 off| gART FAFER FETT FT TooT The Tl
TEAT o, 36T T FealdT UT 3HFT HiEded FToiad o AT
3ol & gE-ga, amen-faren, gfoafar s sfageefaar #
SATEAT el &1 3827 o1l 3ThHr foomg ) X F9rair Fr 3%
oot oY Hivg 3R TEET 3HF O F HEEr F ¥ 3¢ I8
Fopeadr HT IR F gT WA o7| Fel ovehr == FIar o
oT, & STe AT 33 & o) amEErEr $ Zger a-a 3R
d-als W R & A, 3% f-wrE gEea 7 g o
HETTRT &7 9o 39T 36 =07 gy 1 T wee ot 98
ff 77T 7, 395 o 557 7, 3T 3%F of e - 3E wer
Fr FoTAT & FTET Fr AT 2

SubQuestion No : 90
% ez F e @ FT MR 2
Ans X . =TT FTET
X 2 398 HLeT
X 3 HIHATA HIAT
W 4 TIETTA HIAT
Question ID ; 54107890

Status : Answered
Chosen Option : 4

Comprehension:

frafaf@a ey # TgF T T TeAT & 3eay g

3 & aeqorer o Ahgsor F 2w, seEe s #v e
HEs 99 & 37T & 98 HHT dieg’ A ¥ angel gl A8
FHH & WA 3HE! 301 & AT & AEASA @ i AT &
TET £ 3TEr wer SroraTen Eﬁ'ﬂ'ﬂﬁ?ﬂ-ﬁﬁ'g@'%i o |
FEEEN AT H gl HOA JTET T Ay A 55 &7 3ER
ezl F M F AGE F g 39T AR g R ¥ 39
I g 7 G I A

T FT AT GeAwT FNET FT HeT FHEES Fhdl
FOET & TS| 3T SR F o o7 & v e sEvieT
HEIOUT TET| SpSUT o GANT FAs A5 AW A Al gL afaar
HFA g 38| 32 W F T FHH oF U
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SubQuestion No: 91

Y mw Rt ¥ U @ I ¥ AwE &

FIT AT g7
Ane 7 HeT FHEF SR off MFUT F HH FA
Eoilf

X 2 I AT UH T T
X 3 gRTT s 7 #e 39T A1)
X 4« gafr sfgar w17 7 ag femar =)

Question ID : 54107897
Status : Answered
Chosen Option : 1

Comprehension:

TFafafEa oy #7 Tea & T FeaAl & el Gl

3 To Aot o) sfgpeor o ST, HeE s & fae
F@E 9 ¥ 3feq & 98 e Aot et § IR 71 6
SHH & TAW 3HE 01 G AT & AEASH @ 1 AT
TEL &1 SHH FIA FIRUBHIST I H T G g% @1 W@
SETTRN T H Ieglel A TR B FYT A TF | THH
et & MRS & AEE & gag F94r AT @i omm F 33
sreica. feTe & Gete e Fr TR

Tt Fr eafer gewr At Fr sew wEEE shaEr
FUHT g €| e s & ue e @ v e s
378I00T TET| ANFUT & ZERT gS S ot A e=fer gee M
HFA g 3811 IegiA W & "N FH o5 iU

SubQuestion No: 92

Y SRt # w3 E?
A K w ¥ EE
X 2 GRET W% # #e9 gal

X3 ST W F gEa F 8

W4 EE T I
Question ID : 54107898
Status : Answered
Chosen Option : 4
Comprehension:
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frafafEa ey F1 Tea & T wedll & 3eaw dfEw

3¥ fed aeqiUTAr o) sfpeor o ST, SeE s @ e
HEE 9 ¥ 3feT & 98 e ARt s ¥ AR 7 2
HHH & WA 3HE 01 &G A1 & AEAsH @ o AT
TR &1 SHH FIAE FRUBHCT T A FIT Gl g% @l W@
AT TAET H 3 3 JTET f e A 33 & 5w
eIt & MATT & AFH F gAG F9aT AT D= o F 35
sreicat e & Gered e & TR

oo Fr eafer geww At Fr sew wEEs shaEr
oY g S| e s & ue e @ Tv e s
TRIOUT TET| SpSOT & FET a=s A Aeft A eafy gy A
HFA g 3511 Iegid W & "N FH oiF iU
SubQuestion No: 93

% aemier & Y@ifea 31 FT FAT ST w4 87
K T T A O W

Zma?rﬁﬁtiamﬁraﬁmga?mqgm

K'%|

B AT F Hied F HHA T F HEHSST e

& 95 @ g

K4_1qjﬁaﬁaﬂfr¢qqu—rma:rgﬁﬁ§atﬁaﬂ
S 95 1@ 2

Question ID : 54107896
Status : Answered
Chosen Option: 3

Comprehension:
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fr=faf@a ez FF 9eF & T Feal & 3o ATl

3¥ fed aeqiUTAr o) sfpeor o ST, SeE s @ e
HEE 9 ¥ 3feT & 98 e ARt s ¥ AR 7 2
HHH & WA 3HE 01 &G A1 & AEAsH @ o AT
TR &1 SHH FIAE FRUBHCT T A FIT Gl g% @l W@
SETTENT AT § IR MWﬁﬂﬂTm%ﬁl ITFT
et A AT & AEE #9419 F9a1 JA &= foam 3§ 37
sreicat e & Gered e & TR

oo Fr eafer geww At Fr sew wEEs shaEr
oY g oS e s & ue e @ Tv e s
37BI00T TET| ANFUT F gENT aS S Rt A =T geew i
el & 361| 3egiel B = O HH 55 G|

SubQuestion No: 94

© e FT T HY P

Ans K.
LA
X 2 A%
v o T
% 4
X gl
Question ID : 54107895
Status : Answered
Chosen Option : 3
Comprehension:

fArafafea @ & 9wt 9 7 Jedl & Ieat AT

30 o eI off) sfgeer F 2@, SRR AU & e
3@E 9T ¥ 3T ¥, 98 el wioE! Fonst & ooy 1 A9
THH % TA 3EH 30 FE T & gEAsa #oaf Aa
mﬁlmﬁmmﬁﬁmﬂﬁg‘éélﬂﬁ
ST HAT H 3egle HOr JIE HT FuT O ©F &) 3|
ety 3 AT & FEE F TS O HT e B ¥ 3w
sl [eTTe 1 Goat 779 &1 7151

o #r eafor gaew AT #r e T s
FUFHAT B 75| 34 $T5dl & UR Fod @ | Hehol! AU
ITRTOUT TET| APSOT & TN A=s s et i eafw gt A
HTFA g 387| 3eEe O % TR HA o T

SubQuestion No : 95
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Y THE Fwer BUmEn o # wET el g
g - T T T

Ane X # g & e e g 2
X2 3@ F FOO F AHASS F 3T H gE
X o F9 # AT F FEASS FHT AT Fe g3 7

v 3 St e gh ¥

Question ID : 54107899
Status : Answered
Chosen Option : 4

Comprehension:

f=fafia meamr #r g & & 7et F 3e% =l

E{ﬁ‘-‘rf-\awgé Rt 3% oot TR T W gE! a8 7 e
¥ Wi A o OY die! AT WX ar siear & 39 dme @
m‘mn—mw’ﬁmgmﬁaﬁﬁaﬁrm?rm
o faw| firedr & Hg ¥ FF oeg 7 e 98 F= @7 M=
e # Fwe U o oEe IFEE S gfte & of, e
YHla & HEN T SHHI-3HH, SA-3daT HIUSN g T caasr
#r o, TrEe o F e & deInr B on, FAr s gy e
a% T ot 5 B f&m A FER @ & S R g s
HAT-IEA AR § o= Ael-iAveies] 35 3 3 5o
dT T & T H GA-Ud {od S8e W HE- T a9 7 9T

SubQuestion No: 96

L ol F w9 & BEIT @ B/ ¥ 9w

N FAT AT g7
K e gl W sty wEer
X2 Tt 7 gerwa

X 3 g w8 & v fRmae T &g
v 4 3R 9fAE AT

Question ID : 541078102
Status : Answered
Chosen Option : 4

Comprehension:

https://www.freshersnow.com/previous-year-question-papers/




fr=fafea ez #F e & & 9et F 3e) afewl

ﬂﬁhﬁﬁ[ﬁﬁﬁéﬂWWlW@ﬁﬂ! IE o T
¥ @i g o OX die! AR WX A wiear & am 39 dme &
m‘mn—mn’ﬁm*gﬂnﬁ}ﬂ?mmmﬁw
o faw| et & Hg ¥ A% oeg 7 e 97 F= @ M@
g & Rt U @ e I9EE B gfve & off, e
Sepid & HER 9T SHH-3HH, SA-1-301 HUSR 8 FT cgaem
#r ofr, T & F T &7 deaRr G an, o sudr giy Ter
a% T ot T BT faT A FER @ @ S g s
AT T AMAH § - AaT-fAvelest 330m e A 5o
ST Teflet & ¥9 H {EA-IT I @lel WS-8 el ek o 9T

SubQuestion No: 97

Y Rt a== F A & RoweT O &
Fifan

A, W#ﬂ? T e 7 e

X 2 9€ T=2 ¥ g4 §AY T AT o

X 3 g SR el Hel 1A AT

Hq?ﬁaﬂmmﬁé:gﬁ'g’craﬁagmﬁ

W .
4 T== FT T & TEHT F7eT & T

Question ID : 541078103
Status : Answered
Chosen Option : 4

Comprehension:

https://www.freshersnow.com/previous-year-question-papers/




fr=fafea ez #F e & & 9et F 3e) afewl

H{ﬁf—'ﬁ'&'ﬁg%l Rt 38 ot TR T W gl a8 7 &
HE Wi HE o O Al AT oY & dtear & wm 38w &
aﬁr‘mn-mnfﬁmgmaﬁy}ﬁ?mmmﬁm
o faw| et & Hg ¥ A% oeg 7 e 97 F= @ M@
g & Rt U @ e I9EE B gfve & off, e
SFfd & HSR T SHF-3HH, SAA1-3daT ATOFRT gl T cgar
#r ofr, T & F T &7 deaRr G an, o sudr giy Ter
a% T ot T BT faT A FER @ @ S g s
AT T AMAH H -l AaT-fAvelest 330 S5 A 5o
T THe & T H oA-Ud (od S8e W HE-T T a9 o O

SubQuestion No: 98
% T F HeT 819 FAT 27
A mErs # e e Bvear
& 2 g==r & R
2 3 faredr $r g=or
X 4 Rl 7 arcHeT

Question ID : 541078101
Status : Answered
Chosen Option : 1

Comprehension:

oo Treamer &1 9gat I 1T Weal & e ane|

Hﬁﬁmﬁgél Rt 38 oot SR T 9 gHEE! 98 A e
FE FheT A o T Sl AT 9T 7 Siear & 30w #
T FAnRI-AarT Rrewrar g3 der d 3uF o 3E Ay
%o faw| Riedt & Hg ¥ FI5 oeg 7 Twan ag a== F1 H79@d
g & Rt U o ToEe I9EE $ gfte & off, T
TFid & SR TIT SHHI-3HH, SAAT-3deT HUHN gied o cqaear
#r o, Tt 87 & Ter-o9T F7 deanr Bar on, Far sHer ghE e
a% g off foF el & A FER @ & Sreer R g el
HA-UZA WHRH §_ole-oid Aal-TAveles] 351 $Er 38 5
Sl IR & T H GA-Ud {@d S8 W_HE- 99 G o 9

SubQuestion No: 99
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% e F wer-ger @ gover R e F e
T 57

A o e AT F ot
X 2 FEAAar @ & fow

/5 3 PCH-FCH
KedQpir s &
Question ID : 541078104
Status : Answered
Chosen Option: 3
Comprehension:

ol srgare & 9gat 0 T WeA F Sea] A

T AR g§1 R 38 o9 SR 9T W gseal g A e
T Fie Hg o oY dlie! AT WX A Sfiear & an 3@ due &
m‘mn—mwmgmﬁammmmm
e fow| Rredh & Hg & #% w5 7 e a7 o== # M9
i & v a9 wom Tree Eae & gt $r o, T
YHia & HER TR FHH-3HH, SA-30T HOHR g T cagem
H off, Torae 8 & For-997 @7 dean fRar T, Fw 3EAT 9 @
Hﬁﬁﬁ%ﬁ@ﬁ?mmﬂmﬁm%gm
TAS-UE0T NN § 2e-88 Har-fsees 35 s30T 3 55
FT TH F T H AU od S8 W HE- T T o 9T

SubQuestion No: 100
o TETTA F Y@ 3Her F A aEry §?
K i ot s

v 2 G3TETE FT T w9

K o AT WA @ guery Rt

X 4 A H AT

Question ID : 541078105
Status : Answered
Chosen Option: 3

Q.1 Seleet the aption that hast conveys the meaning of the underlined idiam in the sentence.

It iz only vour parents who would be by your side in times of trouble. Lzlieve me. others ars mostly fair weather friends.

Ans
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X 1. people who speak ill of others all the time

/< 2. people who are of no use at any point of time
+ 2 people who desert in times of trouble

X 4. people who help all the time.

Question ID : 541078155
Status : Answered
Chosen Option: 2

Q.2 gelect the correct PASSIVE VOICE form of the given sentence.

The language, cuisine, attire and music of the British added a new flavour to life in India.

Ans f'|

A new flavour to life in India was acded by the language, cuisine, attire and music of the British.

X 2

The British added a new flavour to life in India with their language, cuisine, attire and music.
X 3

Life in India got an added flavour from the language, cuisine, attire and music of the British.
N 4

The larguage, cuising, attirc and music by the British were constantly adding new flavours to life in India.

Question ID : 541078118
Status : Answered
Chosen Option : 1

Q3 Change the following sentence to Indirect Speech.

The passenger asked the ticket collector, “Is this train running late?”

Ans 1.

The passenger wanted to know if the train will be running late.

X 2

The ticket collector was asked by the passenger if this train is running late.
W 3
The passenger asked the ticket collector if that train was running late.

X 4

The passenger asked the ticket collector if this train has been running late.

Question |ID : 541078129
Status : Answered
Chosen Option : 3

Q4 gelect the correct Antonym of the given word.

recommend
Ans 1. acelaim
7< 2. endorse

/X 3. repossess
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o 4. disapprove

Question |ID : 541078148
Status : Answered
Chosen Option : 4

Q5 Select the correct SYNONYM of the given word.

Ans

magnificent

X 1. dreary

/X 2. unimaginative
W 2 splendid

X 4. stimulating

Question ID : 541078144
Status : Answered
Chosen Option : 3

Q6 Change the following sentence to Direct Speech.

The lady replied that she was busy that evening.

Ans 1. Said the lady. “T will be busy that evening.”

/< 2. The lady answers, “I may be busy in the evening.”
+ 2 The lady answered. “I'm busy this evening”.

X 4. Lady said, “T am going out in the evening.”

Question ID : 541078131
Status : Answered
Chosen Option : 3

Q7 gelect the correct Antonym of the given word.

Ans

adversary
W 1 ally
X 2. adventurer
/< 3. agitator
X 4. antagonist

Question ID : 541078149
Status : Answered
Chosen Option: 1

Q.8 Select the option that best conveys the meaning of the underlined idiom in the sentznee.

Ans

Most of the political leaders have a gift of the gab, with which they mesmerise the common people.
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Z 1. To have a strong and well-built physique
/< 2. To have a poor shabby appearance
/< 3. To spend a large sum of money

« 4 To be an eloquent speaker

Question ID : 541078154
Status : Answered
Chosen Option : 4

Q9 Select the correct PASSIVE VOICE form of the given sentence.

The doctor advised him bed rest for a fortnight.

Ans X 1. Take bed rest doctor advised him.
+ 2. He was advised bed rest for a fortnight by the doctor.

7% 3. The doctor was advised him to rest for a fortnight.
/< 4. A fortnight’s bed rest was advised by him for the doctor.

Question ID : 541078119
Status : Answered
Chosen Option: 2

Q1 Select the correct SYNONYM of the given word.

arrocious

Ans X 1. boisterous
& 2 animated
/< 3. enterprising
« 4 abominable

Question ID : 541078141
Status : Answered
Chosen Option : 4

01-1 Change the following sentence to Direct Speech.

Sunil Chhetri told that for the Indian team every match was war and every game a fight.

Ans KL

Sunil Chhetr§ said to the Indian team “You have to fight in each match like vou are in a war and as if every game is a fight,”

X 2

Sunil Chhetri said “For Indians, every match was a fight and every game was a war,”
X 3
Sunil Chhetri said. *“Indian Team has to have to fight in each match to win the war™

v

Sunil Chhetri said, “For the Indian team, every match is war and every game a fight.”

Question ID : 541078135
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Status : Answered
Chosen Option : 4

Q' Select the correct SYNONYM of the given word.

gigantic
Ans o 1. colossal
/< 2. great
/& 3 miniature
X 4. awesome

Question ID : 541078143
Status : Answered
Chosen Option: 1

Q' Change the following sentence to Direct Speech.

The master ordered the dog to sit down.
Ans o 1. “8it down!” said the master to his dog.
/< 2. “Keep sitting,” said the master to his dog.
X 3. “Don’t move” the master ordered his dog.

X 4 *“T ordered you to sit down™ said the master to the dog.

Question ID : 541078133
Status : Answered
Chosen Option: 1

Q.1 Identify the scgment in the sentencc that contains a grammatical crror.
4

Let me know / if youneed / a further information / about the programme / that is going to be held.

Ans  of 1. a further information
/< 2. if you need

X 3. that is going to be held.
X 4 Let me know

Question ID : 541078107
Status : Answered
Chosen Option : 1

Q.1 Change the following sentence to Indirect Speech.
5

“I wonder™, Sharda said to Girija, “whether you can spare your Economics notes for a day™.

Ans 1. Sharda wondered if Girija had spare Economics notes.

& 2. Do you have spare Economics notes Sharda asked Girija

v &3

Sharda wondered if Girija could spare her Economics notes for a day.
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X 4

Girija was asked by Sharda whether she had spare Economics notes.

Question ID : 541078130
Status : Answered
Chosen Option: 3

Q.1 lcentify the segment in the sentence that contains a grammatical ezror.
6

During the lepure of Babu Jagiivan Rin, / Ge Minisier of Builways Gom 1936 o 1962, / (e elecirlcation of Ge India
EFallways network / was most fastest.

Ans  of 1. was most fastest.
75 2. the Minister of railways from 1956 to 1962,

/< 3. During the tenure of Babu Jagjivan Ram
75 4. the electrification of the Indian Railways network

Question |ID : 541078110
Status : Answered
Chosen Option: 1

Q.1 Icentify the segment in the sentence that contains a grammatical error.
7
Leaving the room in a hurry, / he walked speedy / to the office of his colleague / to ask for an explanation.

Ans 1. to the office of his colleague
/< 2. to ask for an explanation.
o 3 he walked speedy

/< 4. Leaving the room in a hurry,

Question |ID : 541078113
Status : Answered
Chosen Option: 3

@1 Select the correct SYNONYM of the given word.

celestial

Ans o 1 heavenly
& 2 terrestrial
X 3. everlasting

X 4. celebratory

Question ID : 541078142
Status : Answered
Chosen Option: 1

Q.1 2% ) £ ) 5
o Change the following sentence to Indirect Speech.

“You are welcome to stay a few days, Uncle Bill.” I said quickly.

Ans of 1
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I quickly told Uncle Bill that he was welcome to stay for a few days.

~ 2

I told Uncle Bill quickly that you are welcome to stay for a few days
X 3.

I quickly told Uncle Bill that he was welcome to keep staying for a few days

X a4

Uncle Bill quickly told me that [ was welcome to stay for a few days.

Question |ID : 541078127
Status : Answered
Chosen Option: 1

Q.2 Sezlect the option that best conveys the meaning of the underlined idiom in the sentence.

0
By holding talks with the rebel leaders who were planning protests, they managed to nip things In the bud.

Ans 5 1. Defeat them completely

A 2. Write everything in ink clearly
/< 3. Plant trees together

+ 4. Stop things at an early stage

Question ID : 541078153
Status : Answered
Chosen Option : 4

°1'2 Select the correct Active Voice form of the given sentence.

An appeal was made for blood donation by the patient’s relatives.

Ans ‘f"|

The patient’s relatives made an appeal for donation of blood.

/< 2. The patient’s relatives offered to donate blood.

X 3.

The appeal for blood donation was made by the patient’s relatives.

X 4

The appeal for blood donation can be made by the patient’s relatives.

Question ID : 541078121
Status : Answered
Chosen Option: 1

QA2 Qalnnt ot
5 Select the correct Antonym of the given word.

scintillating

Ans 1. sparkling

/< 2. scorching

¥ 2 lacklustre
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X 4 comfortable

Question ID : 541078146
Status : Not Answered
Chosen Option : --

Q.2 ¥ o A 5 .
5 Change the following sentence to Indirect Speech.

“It’s high time you found a job.” said Granny to Uncle Ken one day.
Ans 1.
Uncle Ken was seriously advised by Granny to look for a job one day.

Y &3

Granny told Uncle Ken one day that it was high time that he found a job.
X 3

One day Granny says to Uncle Ken it is high time you found a job.
X 4

Granny scolded Uncle Ken one day for not looking for a job seriously.

Question ID : 541078126
Status : Answered
Chosen Option : 2

Q‘-'z Choose the most appropriate option to fill in the blank in sentence given below.

Ifyou through his cupboards, you would find a strange assortment of garments.
Ans X 1. washed
X 2. segregated
« 3. rummaged

/< 4 arranged

Question ID : 541078137
Status : Answered
Chosen Option : 4

@2 Change the following sentence to Indirect Speech.

He said to her, “I’ve been waiting here in the queue for over an hour™.

Ans 5 1. He told her I am standing in the queue for over an hour.

W2

He told her that he had been waiting there in the queue for over an hour.

X 3.
I had been standing in the queue for over an hour he is telling her.

< 4

He says to her that he is standing in the queue for over an hour.

Question ID : 541078128
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Status : Answered
Chosen Option : 2

Q.2 Identify the segment in the sentence that contains a grammatical 2rror.
6

In the class test, / the teacher told the learners / thar each answer / should not exceed more than 200 words.
Ans (1. that each answer
v 2. should not exceed more than
# 3. the teacher told the learners
7 4. In the class test,

Question ID : 541078112
Status : Answered
Chosen Option: 2

°7'2 Select the correct Active Voice form of the given sentence.

Originality of thought was not appreciated in school essays
Ans of 1
Teachers did not appreciate originality of thought in school essays.
X 2. Several teachers do not like originality in school essays.
X 3. School essays were appreciated for their originality.
/< 4. School essays are not allowed to be original in thought.

Question |ID : 541078123
Status : Answered
Chosen Option : 1

Qéz Identify the segment in the sentence that contains a grammatical error.

Not only they won / the test match / but they also / broke many previous records.
Ans o< 1. the test match

/< 2. broke many previous records.

/< 3. but they also

+ 4 Not only they won

Question ID : 541078111
Status : Answered
Chosen Option : 3

062 Select the option that best conveys the meaning of the underlined idiom in the sentence.

In spite of being good friends, Sharad refused to show his hand to Daler.
Ans X 1. Stay faithful to him

#< 2. Play card games with him
/< 3. Use force against him
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« 4 Reveal his plan of action

Question ID : 541078152
Status : Answered
Chosen Option: 1

Q.3 Identify the segment in the sentence that contains a grammatical error.
’ Ry (he linking of ihe rivers / il is proposed (0 provide ¢ 1 continuous supplies of water / (0 Wose parls of Tudia
! where there is a shortage.
Ans 1. where there is a shortage.
X 2. it is proposed to provide
o 2. a continuous supplies of water

2 4. By the linking of the rivers

Question ID : 541078115
Status : Answered
Chosen Option : 4

Q.3 Sslect the corract Active Voice form of the given sentence.

Someawhat similar to the lacal gilli-danda, the game of cricket was introdnced in India hy the Englishmen.

Ans X]‘

The game of gilli danda which is similar to Englishmen introduced cricket in India.

X 2

The game of cricket, somewhat similar to the local gilli-danda. was introduced in India by the Englishmen.
X 3
The garme of crickel which is sornewhal sitnilar (o the Tocal gilli~dende. introduced the Englishrnen in Tndia

v ¥

The Englishinen inlroduced in India the game of cricket, somewhal similar (o the local gilli-danda.

Question ID : 541078125
Status : Answered
Chosen Option : 4

Q3 Identify the segment in the sentence that contains a grammatical error.

India’s achievements / on the cricket field / has invigorated/ the entire nation.
Ans X 1. on the cricket field

# 2. India’s achievements

+ 3 has invigorated

X 4. the entire nation

Question |ID : 541078109
Status : Answered
Chosen Option : 3

Q.3 Tdentify the segment in the sentence that contains a grammatical error.
3

The comedian / looked very funny that / the andience could not / control their laughter.
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Ans 1. The comedian
< 2. control their laughter.
« 3. looked very funny that

/< 4. the audience could not

Question ID : 541078106
Status : Answered
Chosen Option : 3

Q.3 Identify the segment in the seatence that contains a grammeatical emror,
Latly in the seventeenth century, / the Unglishmen bring with them / a host of things, / that were alien to the Indian culture.

Ans % 1. a host of things
+ 2 the Englishmen bring with them
/< 3. that were alien to the Indian culture.
< 4. Early in the seventeenth century,

Question ID : 541078108
Status : Answered
Chosen Option : 3

Q.3 Select the correct PASSIVE VOICE form of the given sentence.
5

The Linguistic Survey of India provides an overview of the extant of dying languages of India.

Ans x 1.
An overview of the extant of dying languages was provided by the Linguistic Survey of India.

X 2
The Linguistic Survey of India is provided by an overview of the extant of dying languages of India.

v &3

An overview of the extant of dying languages of India is provided by the Linguistic Survey of India

N 4

An overview of the extant of dying languages of India has been provided by the Linguistic Survey of India.

Question ID : 541078116
Status : Answered
Chosen Option: 3

Q3 Select the correct SYNONYM of the given word.

VIFTHOUS

Ans X 1. beauteous
/< 2. generous
« 3 righteous

X 4. courteous

Question |ID : 541078145
Status : Answered
Chosen Option: 2
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@3 Change the following sentence to Direct Speech.

Mrs. Murthy asked the grief-stricken mother how the stove had burst.

Ans J'|

Mrs. Murthy asked the grief-stricken mother, “How did the stove burst?”

~ 2
Mrs. Murthy asked the grief-stricken mother. “Why did the stove burst?”

X 3.

Mrs. Murthy asked the grief-stricken mother, “How has the stove burst?”
X a4

Mrs. Murthy asked the grief-stricken mother, “Did you see how the stove burst?”

Question ID : 541078134
Status : Answered
Chosen Option : 3

Q3 Select the correct PASSIVE VOICE form of the given sentence.

The floods destroyed several crops.
Ans 1. Floods can be destroyed by several crops.
X 2. Some crops get destroyed when floods come.
/< 3. Crops will be destroyed if there are floods.
o 4 Several crops were destroved by the floods.

Question ID : 541078120
Status : Answered
Chosen Option : 4

Q.3 Identify the segment in the sentence that contains a grammatical error.
9

The changes in fashions is / most obviously / influenced by the trends / from all around the world.
Ans X 1. most obviously
& 2. from all around the world.
< 3. influenced by the trends

« 4 The changes in fashions is

Question ID : 541078114
Status : Answered
Chosen Option: 1

Ql-]" Select the correct PASSIVE VOICE form of the given sentence.

Navin M Raheja has made several contributions in the field of conservation

Ans J’H

Several contributions in the field of conservation have been made by Navin M Raheja.

X 2
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Several contributions in the field of conservation are being made by Wavin M Raheja.

X 3

Navin M Raheja is making several contributions in the field of conservation.

p

Several contributions in the field of conservation were made by Navin M Raheja.

Question ID : 541078117
Status : Answered
Chosen Option: 1

0.4 Cheose the most appropriate option to fill in the blank in sentence given below,

W were when we heurd (hal the Ahuja’s were emnigraling Lo Capada, We always (houglil (hal they liked to live bere,

Ans 1. contemptuous

/< 2. nervous
/< 3. exasperated

o 4 flabbergasted

Question |ID : 541078140
Status : Answered
Chosen Option : 4

Qé“ Select the correct Active Voice form of the given sentence.

The charger should be disconnected when the phone is in use.
Ans 3 1. Use the phone only when the charger is connected.

/< 2. Keep the charger connected to use the phone.

X 3

The phone should be disconnected when the charger is in use.

« 4 Disconnect the charger when the phone is in use

Question ID : 541078122
Status : Answered
Chosen Option : 4

A4 Select the correct Antonym of the given word.

rebuke
Ans 1. admonish
+ 2 applaud
X 3. repulse
/< 4. reprimand

Question ID : 541078150
Status : Answered
Chosen Option : 2
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Q‘-"' Choose the most appropriate option to fill in the blank in sentence given below.
Indian weddings are an opportunity for a few to their wealth.
Ans 1. dangle
/X 2. give away
75 3. expose
W 4 flaunt

Question ID : 541078136
Status : Answered
Chosen Option : 1

Q; Choose the most appropriate option to fill in the blank in sentence given below.

Jamshedji Tataplaveda  role in building the economy of India.
Ans o 1. pivotal
X 2. necessary
< 3. managerial
/5 4. generous

Question ID : 541078139
Status : Answered
Chosen Option: 1

Q.4  Select the correct Active Voice form of the given sentence.
6

Nupur was cautioned by her mother against making a hasty decision about changing jobs.

Ans X]‘

Changing jobs in haste has been cautioned against by Nupur and her mother.

w2

Her mother cautioned Nupur against making a hasty decision about changing jobs.

/& 3. Her mother cautions Nupur about changing jobs in haste.

X 4

Nupur cautioned her mother against making a hasty decision about changing jobs.

Question |ID : 541078124
Status : Answered
Chosen Option: 2

%4 Select the correct Antonym of the given word.

salient

Ans 1. repetitive

X 2 sensible

« 3. inconspicuous

/< 4. fascinating
https://www.freshersnow.com/previous-year-question-papers/




Question ID : 541078147
Status : Answered
Chosen Option: 1

My friend is very stylish, with
Ans 1. a compatibility
& 2. an indication
/< 3. an aversion
« 4. apenchant

for expensive silk sarees.

Qé“ Choose the most appropriate option to fill in the blank in sentence given below.

Question |ID : 541078138
Status : Not Answered
Chosen Option : --

/& 2. Shouting out loudly

« 4 Raising a false alarm

Ans 3 1. Crying when he hears about wolves

< 3. Asking for a wolf as a pet

064 Select the option that best conveys the meaning of the underlined idiom in the sentence.

Ashish has been erying wolf so often that the family has stopped taking him seriously.

Question ID : 541078151
Status : Answered
Chosen Option : 4

Ans x1

¥ &

X 4

st Change the following sentence to Direct Speech.

< 2. “Wait for results announcement”, the Coach said.

The coach proposed that they should wait for the announcement of the results.

The Coach wanted the results to be announced so he said, “wait!”.

“We should wait until the results are announced”, said the Coach.

The Coach told them, ““You wait. The results will be announced soon”.

Question ID : 541078132
Status : Answered
Chosen Option: 2

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No: 51

@5 Which of the following words should be filled at
(1) as per context of the passage from the given
options?

Ans  of 1 frequently
/< 2 plainly
X 3 rarely
X 4 unusually

Question ID : 541078157
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 52

@5 Which of the following words should be filled at
(2) as per context of the passage from the given
options?

Ans 3¢ 1. learning
X 2 wisdom
W 3 knowledge

X 4 education

Question ID : 541078158
Status : Answered
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No: 53

%5 Which of the following words should be filled at
(3) as per context of the passage from the given
options?

Ans 3 1. example

& 2 clause
X 3 language
« 4 phrase
Question ID : 541078159
Status : Answered
Chosen Option : 1
Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 54

@5 Which of the following words should be filled at
(4) as per context of the passage from the given
options?

Ans - X 1. essential
X 2 elementary
/< 3 mainly
W 4 evident

Question ID : 541078160
Status : Answered
Chosen Option : 1

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 55

&5 Which of the following words should be filled at
(5) as per context of the passage from the given
options?

Ans o 1 practices

/< 2 advantages

< 3 duties
54 progress
Question ID : 541078161
Status : Answered
Chosen Option : 1
Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 56

@5 Which of the following words should be filled at
(6) as per context of the passage from the given
options?

Ans 3 1. pleasure
/< 2. enjoyment
W 3 success

X 4 employment

Question ID : 541078162
Status : Answered
Chosen Option : 3

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No: 57
@5 Which of the following words should be filled at
(7) as per context of the passage from the given
options?
Ans K— 1. ﬁﬂn
v 2 world
& 3 site

& 4. company

Question ID : 541078163
Status : Answered
Chosen Option : 2

Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 58

@5 Which of the following words should be filled at
(8) as per context of the passage from the given

options?
Ans  of 1. critical
X 2 ready
/< 3 different
X 4. easy
Question ID: 541078164
Status : Answered
Chosen Option : 1
Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 59

@5 Which of the following words should be filled at
(9) as per context of the passage from the given

options?
Ans 5 1. gates
W 2 levels
X 3. ways
& 4 doors
Question ID : 541078165
Status : Answered
Chosen Option : 2
Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

A knowledge economy is either economy of knowledge focused on the
economy of the producing and management of knowledge. or a
knowledge-based economy. In the second meaning, more (1)  wused, it
is a phrase that refers to the use of (2) to produce economic
benefits. The (3) was popularized by Peter Drucker in his book The
Age of Discontinuity.

In this new economy. it is (4) that the key to success is
“knowledge”. But the rules and (5) that determine (6) in
the industrial economy of the 20tk Century need rewriting in an
interconnected (7) where resources such as know-how are more

(8) than other economic resources. These rules need to be
rewritten at the (9)__ of firms and industries in terms of knowledge
management and at the level of public policy as knowledge policy or
knowledge-related policy. (10) , this means that business must be in
a constant process of change and adaptation to the new economic realities.

SubQuestion No : 60

Q% Which of the following words should be filled at
(10) as per context of the passage from the given
options?

Ans X 1. Unless

v 2 In other words

X 3 However

/< 4 Because

Question ID : 541078166
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate aption
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usually the (1) are raised on stories of fathers’
entrepreneurship and they startata(2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 61
%6 Which of the following words should be filled at
(1) as per context of the passage from the given
options?
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Ans X 1. child

W 2 sons
2 3 families
& 4 kin
Question ID : 541078168
Status : Answered
Chosen Option : 1
Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and
togetherness. Usually the (1) are raised on stories of fathers’
entrepreneurship and they startata (2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 62

2® Which of the following words should be filled at
(2) as per context of the passage from the given

options?
Ans 1. ripe
2 2 middle
X 3 earlier
W 4 young
Question ID : 541078169
Status : Answered
Chosen Option : 4
Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usually the (1) are raised on stories of fathers’
entrepreneurship and they startata (2) _ agetolearnthe (3)__ . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.
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SubQuestion No: 63

°3‘5 Which of the following words should be filled at
(3) as per context of the passage from the given

options?
Ans  of 1 rOpeESs
& 2 works
X 3. stones
X 4 arts
Question ID : 541078170
Status : Answered
Chosen Option : 2
Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usuvally the (1) _ are raised on stories of fathers’
entrepreneurship and they startata(2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 64

Qf Which of the following words should be filled at
(4) as per context of the passage from the given

options?

Ans X 1. worker

v 2 mother

/< 3. labourers
7< 4 group
Question ID : 541078171
Status : Answered
Chosen Option : 2
Comprehension:
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In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate erowth and

togetherness. Usuvally the (1) __ are raised on stories of fathers’
entrepreneurship and they startata(2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No : 65

%6 Which of the following words should be filled at
(5) as per context of the passage from the given

options?
Ans X 1. start
& 2 expect
< 3 encounter
o 4 share
Question ID : 541078172
Status : Answered
Chosen Option : 1
Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate aption
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usually the (1)  are raised on stories of fathers’
entrepreneurship and they startata(2) agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their leaming. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 66
Q% Which of the following words should be filled at
(6) as per context of the passage from the given
options?
Ans o 1. invests
X 2. keeps
/< 3. ErOws

X 4 leaves

| I
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Question ID : 541078173
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usually the (1) are raised on stories of fathers’
entrepreneurship and they startata (2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (3) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 67

@® Which of the following words should be filled at
(7) as per context of the passage from the given
options?

Ans 3 1. angle
/< 2 aroma

« 2 atmosphere

X 4. enjoyment
Question ID : 541078174
Status : Answered
Chosen Option : 3
Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and
togetherness. Usually the (1) are raised on stories of fathers®
entrepreneurship and they startata (2) _ agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No : 68

Q° Which of the following words should be filled at
(8) as per context of the passage from the given
options?

Ans  of 1 dialogues
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& 2 rooms
X 3 thoughts

X 4. comments

Question ID : 541078175
Status : Answered
Chosen Option: 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate egrowth and
togetherness. Usually the (1) are raised on stories of fathers’
entrepreneurship and they startata(2)  agetolearnthe (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 69

Q¢ Which of the following words should be filled at
(9) as per context of the passage from the given

options?
Ans o 1. business

X< 2 relay

/5 3. sport

X 4 racing

Question ID : 541078176
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks
with the help of the alternatives given. Select the most appropriate option
for each number.

Family businesses are a familiar story of passionate growth and

togetherness. Usually the (1)  are raised on stories of fathers’
entrepreneurship and they startata (2)  agetolearn the (3) . The
sons and the father (and also the (4) | if associated with the business)
together (5) a strong emotional bond and the father (6) time
in their learning. There is an (7) of partnership in the family

(8) . This tradition of the (9) baton getting passed on
through generations has been the (10) for centuries.

SubQuestion No: 70
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@7 Which of the following words should be filled at
(10) as per context of the passage from the given
options?

Ans X 1. route
W 2 pattern
X 3 sign
# 4 matter

Question ID : 541078177
Status : Answered
Chosen Option: 3

Qi7 Substitute the underlined words with the best option to improve the sentence.

If one watch the film, he or she will be full of praise for her acting.
Ans 3 1. Whenever anvone watch

#< 2. Whenever they watch

« 2 If anyone watches

X 4. If one watch

Question ID : 541078190
Status : Answered
Chosen Option : 3

02-7 Given below are four sentences, which are jumbled. Pick the opticn that gives the correct order.
P - He decided to make curd with the remaining milk.
Q - He boiled the milk and drank some of it.
R - One day his neighbours gave Gopal a small pot of milk.
S - So, he got a spoonful of curd from the neighbour and added it to pot of milk.
Ans X 1. PSRQ
' 2 RQPS
X 3. SPRQ
< 4. QSPR

Question ID : 541078185
Status : Answered
Chosen Option: 2

Q3-7 Substitute the underlined words with the best option to improve the sentence.

Sitting next to me, was an elderly lady. forty about probably
Ans 1. probably about forty
« 2. about forty probably
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X 3. forty about probably
X 4. forty probably about

Question ID : 541078188
Status : Answered
Chosen Option : 1

Q.7 Given below are six sentenees, fowr of which (2 @, B, £, are jumblad. Pick the opticn that gives the correet arder of
4 PQ RS

S-1 Ifyou are doing a piece of writing, you need 1o refer to some books for information on the subject.
P- For his, you need to koow how (e books are classified anud ammweed in the library.

Q - This necessitates vour using a library and locating the book vou nead.

R - The catalagie in the library is most often available in the form af eards.

S - This becotnes easy and saves time if vou mnderstand how the cataloguing system in the library works.
8-6 The cards are arrangsd in alphabetical order.

Ans o | QPSR
X 2. RSPQ
X 3. SQPR
X 4. RPSQ

Question ID : 541078179
Status : Answered
Chosen Option: 1

Q.7 Given below ave six s=ntences. tour ot which (B, Q. B, 8), are jumbled. Pick the option that gives the cotrect arder uf
5 BQR.S

S- 1. The aite proposad at Miyapur is Ioeared close to the main road.

P -The title deed of the land is clear and no litigation is envisag=d.

(} - Further, as there is 2 shopping complex closc to the site, water and clectricity may not be a problem.

B - Firstly, it is easily accessible as it is well connectad to various parts of the city by thres bus routss.

% - Most important of all, the building adjacent to the sitz is also available on lease.

S-6 lhere is scops for expanszion of the office as a plot of land on the north of the proposed site is vacant at pressnt.

Ans X 1 SPRQ
X 2. QPRS
X 3. PSQR
v + RQPS

Question ID : 541078181
Status : Answered
Chosen Option : 4

Qé7 Substitute the underlined words with the best option to improve the sentence.

As soon as he arrived home he knew that there was some wrong

Ans o 1 there was something wrong.
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X 2. it was a something wrong.
/< 3. there was some wrong.

/< 4. there’s something wrong there.

Question ID : 541078192
Status : Answered
Chosen Option : 1

7

FQ.R. S

S-1 A summaty is a short, vat coberent version of a text.

Q.7 iven below are six sentences, fowr of which (K Q, B, 8), are jumbled. Pick the option that gives the corrzct order uf

P - Ia formal settings. since no onie has the time to zo throuzh the mimte details of each and every document. the sumimary

helps in kesaing track of whataver is 2:sential in an official environment.

Q) - A summary is especially useful in formal settings, such as classreom lectures, business documents, speeches and

TEpOLTS.
Fo- It gives a ready reference o the users to undarstand the main ideas or highlights of a text and 11 saves titne,

S - On the whole, it has two major benefits,

5=6 The person who writes a summary therefore has a great responsibility of taking dovwn only these points which ate of

utmost importance.

/< 1. RSQP
X 2. SRPQ
/< 3. QRPS
« 4 QPSR

Question ID : 541078182
Status : Answered
Chosen Option : 4

Q.7

Ans

Given below are four sentences, which are jumbled. Pick the opticn that gives the correct order.

P - Therefore, we are forced to approach you.
Q - The dealer promised to send a salesman to appraise the device.
R - We approached your dealers to replace the product.
S - Even after three reminders nothing has been done.
« 1. RQSP
X 2. PRQS
X 3. QSRP
< 4. RSPQ

Question ID : 541078186
Status : Answered
Chosen Option: 1

Q.7
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{nven below are four senfences. which are jumbled. Piek the option that gives the correct ordear.
P - Raju was ceeply affectzd by a rail accidenr near his village in his childhond.

Q - He has successfully demonstrated this method in educational institutions and other places.
B - Using medels of trains, he worked out a method of stopping them sutomatically.

3 - He has hzen trying fo develop a system tn confrol the spead of the frain coming from the oppositz direction.

Ans X1 SQRP
2 PSRQ
< 3. PQRS
X 4. QRPS

Question ID : 541078187
Status : Answered
Chosen Option: 2

Qﬁa Substitute the underlined words with the best option to improve the sentence.

It depends whether if the applicant performs well in the interview.
Ans o' 1. on whether
X 2. whether if
< 3. whether how
# 4 when whether

Question |ID : 541078189
Status : Answered
Chosen Option: 3

Q.8 Givea below are four sentences, which are jumbled. Pick the option that gives the correct order.
! P - They have abilities. but different fron: those in a ‘normal’ person.
Q - The term person with disabilities (PwD). which was used earlier is not an accurate and positive term.
R - 80, othar exprassions have come into nse.

§ - One of these is ‘differently abled’.

Ans X1 PSRQ
X 2. SPRQ
X 3. QPSR
o 4 QRSP

Question ID : 541078183
Status : Answered
Chosen Option: 3

Qz-a Substitute the underlined words with the best option to improve the sentence.

Could you lends your pen for some time?

Ans 1. you lends
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X 2. vou borrow

/< 3 Ilend
4 I borrow

Question ID : 541078191
Status : Answered
Chosen Option : 3

Q.8 Given below are four sentencss, which are jumbled. Pick the oprion that gives the corrzct order.
3
P - Ilold it for a faw seconds. not more than five and then exhale gently.
() - Tnhale deenly and gently with hoth nastrils.

E. - Fill your belly und Tungs wilh Gesh wir

& - For this sumple breathing exercise, just sit comfortably, resting yow hands in your lap it vou are sitting cross-legged or
an your knees 1T vou are sitting 1 & chair

Ans o | SQRP
~ 2. RPQS
/< 3. PRSQ
& 4. QSPR

Question |ID : 541078184
Status : Answered
Chosen Option: 2

Q.8 Givenbelow are six sentences, four of which (I Q. I 8). are jumbled. Dick the eption that gives the correct ordor of
4 BOQRE

§-1 W have starmad mamifachiring a new fype of eleaning device called Neo-clean® for all clzcrrenie gadgers.

P - 1t comes with thrse nozzles to clean the even surface, wedgss, and the uneven surface like the keyboard of a computer.
Q - By pressing a tudlor with he i aosvacourn is Bmnel and e dost = suckad o whenil s swivlad over (e galzel
Tt - The operation of the devies is very simple.

% = 1t iz a small, hand-operatec device.

§-6 The greatest advantaga is that i7 eonsumes vory little eleetricity and mtamatically changes to the battery mode in case of
power failure.

Ans o 1. SRQP
& 2. QPRS
/< 3. SPQR
X 4. QSPR

Question ID : 541078180
Status : Not Answered
Chosen Option : ==

Q.8
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Given helow arz &ix senfences, Tour o which (P, Q. R, &), are jumhled. Pick the option that gives the correet ardar of
RQRS

S-1 English is o lascinaling language,
P- Thiz iz becauze each area of the English-speaking world has developed it own characteristics.

) - Lherefore we come across exprassions such as Uritish Lnglish, American Linglish, Canadian Unglish, African Lnglish,
Iadian Lnglish, anc so on.

TL - We socak of Englizh as a language. and af the same time we speak of virictics of English, that is, “Englishes'.
& - Tt has diversity in spelling, nse and pronmeiation.
£-6 There is g varizly willun each English snd semne conmnon Gelors seross e “Englishes’.

Ans X1 RPQS

X 2. QRSP
X 3. PRSQ
W4 SEPQ
Question ID : 541078178
Status : Not Answered
Chosen Option : --
Comprehension:

Read the passage given below and answer questions that follow.

In a country far away. all the young people decided to kill all the old
people. The yvoung ones said, “What is the use of the old going on living?
They have lived their life, they have had their time and that is that.”

The king was young too. so giving the order did not bother him. Anyone
who had reached the age of fifty or more was to be done away with.

Lots of wise old men were killed and lots of wisdom passed away with
them.

Only one kind-hearted young man took pity on his father: after all. he
owed his life to him. So. he hid him away in a cellar and took care of him.
Time passed and a terrible drought came. Meadows and plough-lands
dried up and every spring dried up. There was a terrible famine, and
sickness and all kinds of troubles came upon the young people. Their hair
began to go white before its time.

They would have put up with everything as best they could. but more and
worse troubles followed. The snow began to melt and spring was upon
them without their having a single grain of seed to sow.

SubQuestion No : 86

Q8 Why were the old people to be killed?

Ans 3¢ 1. They were too ill to be looked after
/5 2 They opposed the king

% 3. They were not paying any taxes

« 4 They were supposed to have lived their lives fully

Question ID : 541078195
Status : Answered
Chosen Option : 4
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Comprehension:

Read the passage given below and answer questions that follow.

In a country far away. all the young people decided to kill all the old
people. The young ones said, “What is the use of the old going on living?
They have lived their life, they have had their time and that is that.”

The king was young too, so giving the order did not bother him. Anyvone
who had reached the age of fifty or more was to be done away with.

Lots of wise old men were killed and lots of wisdom passed away with
them.

Only one kind-hearted young man took pity on his father; after all, he
owed his life to him. So, he hid him away in a cellar and took care of him.
Time passed and a terrible drought came. Meadows and plough-lands
dried up and every spring dried up. There was a terrible famine, and
sickness and all kinds of troubles came upon the young people. Their hair
began to go white before its time.

They would have put up with everything as best they could, but more and
worse troubles followed. The snow began to melt and spring was upon
them without their having a single grain of seed to sow.

SubQuestion No : 87

@8 What happened when the king’s order was given?
Ans < 1. The best things were available.

< 2. The old people became young.

/< 3 The harvest was good.

« 4 There was no wisdom left.

Question ID : 541078198
Status : Answered
Chosen Option : 4

Comprehension:

Read the passage given below and answer questions that follow.

In a counftry far away, all the young people decided to kill all the old
people. The young ones said, “What is the use of the old going on living?
They have lived their life, they have had their time and that is that.”

The king was young too. so giving the order did not bother him. Anyone
who had reached the age of fifty or more was to be done away with.

Lots of wise old men were killed and lots of wisdom passed away with
them.

Only one kind-hearted young man took pity on his father; after all. he
owed his life to him. So, he hid him away in a cellar and took care of him.
Time passed and a terrible drought came. Meadows and plough-lands
dried up and every spring dried up. There was a terrible famine, and
sickness and all kinds of troubles came upon the young people. Their hair
began to go white before its time.

They would have put up with everything as best they could, but more and
worse troubles followed. The snow began to melt and spring was upon
them without their having a single grain of seed to sow.

SubQuestion No : 88
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@® What kind of story would you describe this as?
Ans o 1. Imaginary
/& 2 Adventure

< 3 Real
< 4 Mystery
Question ID : 541078197
Status : Answered
Chosen Option : 1
Comprehension:

Read the passage given below and answer questions that follow.

In a country far away, all the young peaple decided to kill all the old
people. The young ones said, “What is the use of the old going on living?
They have lived their life, they have had their time and that is that.”

The king was young too, so giving the order did not bother him. Anyone
who had reached the age of fifty or more was to be done away with.

Lots of wise old men were killed and lots of wisdom passed away with
them.

Only one kind-hearted young man took pity on his father; after all. he
owed his life to him. So, he hid him away in a cellar and took care of him.
Time passed and a terrible drought came. Meadows and plough-lands
dried up and every spring dried up. There was a terrible famine, and
sickness and all kinds of troubles came upon the young people. Their hair
began to go white before its time.

They would have put up with everything as best they could, but more and
worse troubles followed. The snow began to melt and spring was upon
them without their having a single grain of seed to sow.

SubQuestion No : 89
@® Taking the story forward, who do you think is most likely to
be credited by the author to find the solution to the problem?
Ans 1. The king
& 2 The advisors

v 3 The old man
/< 4 The young man

Question |ID : 541078196
Status : Answered
Chosen Option : 4

Comprehension:
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Read the passage given below and answer questions that follow.

In a country far away, all the young peaple decided to kill all the old
people. The young ones said. “What is the use of the old going on living?
They have lived their life, they have had their time and that is that.”

The king was young too, so giving the order did not bother him. Anvone
who had reached the age of fifty or more was to be done away with.

Lots of wise old men were killed and lots of wisdom passed away with
them.

Only one kind-hearted young man took pity on his father; after all. he
owed his life to him. So, he hid him away in a cellar and took care of him.
Time passed and a terrible drought came. Meadows and plough-lands
dried up and every spring dried up. There was a terrible famine, and
sickness and all kinds of troubles came upon the young people. Their hair
began to go white before its time.

Thev would have put up with everything as best they could, but more and
worse troubles followed. The snow began to melt and spring was upon
them without their having a single grain of seed to sow.

SubQuestion No: 90

@° Why did the King give the order?

Ans o 1. He had been commanded to do so.

2 2. He was young and didn’t bother.
#< 3. His advisors told him to give it.

X 4 He was too old to care.

Question ID : 541078194
Status : Answered
Chosen Option : 2

Q.9
1

Comprehension:

Read the passage given below and answer questions that follow.

The wisdom of Birbal was unparalleled. But Akbar’s brother-in-law was
extremely jealous of him. He asked the Emperor to dispense with Birbal's
services and appoint him in his place. He gave ample assurance that that
he would prove to be more capable than Birbal. Birbal resigned and left
the palace and Akbar’s brother-in-law was made minister in his place.
‘With a view to testing the new minister, Akbar gave him 300 gold coins
and said, “Spend these gold coins in such a way that I get inreturn a
hundred gold coins in this life; a hundred gold coins in the other world and
another hundred gold coins neither here nor there.

The new minister, confused and confounded, spent sleepless nights
worrving over how he would get himself out of this mess.

Eventually, on his wife’s advice, he sought Birbal’s help.

Birbal said, “Just give me the gold coins. I will handle the rest.”

SubQuestion No: 91
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Which one of the following was not part of the test
conditions laid down by Akbar?

He had to get back one-thirds of the gold coins

Ans 2 1. in the next world

#< 2 neither in this world or the next
/< 3 in this life

o 4 within a week

Question ID : 541078202
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given below and answer questions that follow.

The wisdom of Birbal was unparalleled. But Akbar’s brother-in-law was
extremely jealous of him. He asked the Emperor to dispense with Birbal’s
services and appoint him in his place. He gave ample assurance that that
he would prove to be more capable than Birbal. Birbal resigned and left
the palace and Akbar’s brother-in-law was made minister in his place.
With a view to testing the new minister, Akbar gave him 300 gold coins
and said. “Spend these gold coins in such a way that I get inreturn a
hundred gold coins in this life; a hundred gold coins in the other world and
another hundred gold coins neither here nor there.

The new minister, confused and confounded, spent sleepless nights
worrying over how he would get himself out of this mess.

Eventually, on his wife’s advice, he sought Birbal’s help.

Birbal said, “Just give me the gold coins. I will handle the rest.”

SubQuestion No: 92
@° What caused Birbal to leave the palace?

Ans 3¢ 1. His inability to prove his wisdom.
< 2. The brother-in-law’s greater ability
« 2 The brother-in-law’s jealousy
< 4 The king’s anger with him

Question ID : 541078201
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the passage given below and answer questions that follow.

The wisdom of Birbal was unparalleled. But Akbar’s brother-in-law was
extremely jealous of him. He asked the Emperor to dispense with Birbals
services and appoint him in his place. He gave ample assurance that that
he would prove to be more capable than Birbal. Birbal resigned and left
the palace and Akbar’s brother-in-law was made minister in his place.
With a view to testing the new minister, Akbar gave him 300 gold coins
and said, *Spend these gold coins in such a way that I get inretum a
hundred gold coins in this life; a hundred gold coins in the other world and
another hundred gold coins neither here nor there.

The new minister, confused and confounded, spent sleepless nights
worrying over how he would get himself out of this mess.

Eventually. on his wife’s advice. he sought Birbal’s help.

Birbal said, “Just give me the gold coins. I will handle the rest.”

SubQuestion No: 93
Q° In the beginning, what did the brother-in-law want?
Ans 3 1. Some gold coins to spend

/< 2. An assurance from Birbal

#< 3 To use the services of Birbal

« 4 A chance to prove himself

Question ID : 541078200
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given below and answer questions that follow.

The wisdom of Birbal was unparalleled. But Akbar’s brother-in-law was
exiremely jealous of him. He asked the Emperor to dispense with Birbal’s
services and appoint him in his place. He gave ample assurance that that
he would prove to be more capable than Birbal. Birbal resigned and left
the palace and Akbar’s brother-in-law was made minister in his place.
With a view to testing the new minister, Akbar gave him 300 gold coins
and said, “Spend these gold coins in such a way that I get in return a
hundred gold coins in this life; a hundred gold coins in the other world and
another hundred gold coins neither here nor there.

The new minister, confused and confounded, spent sleepless nights
worrying over how he would get himself out of this mess.

Eventually. on his wife's advice. he sought Birbal’s help.

Birbal said. “Just give me the gold coins. I will handle the rest.”

SubQuestion No: 94

Qf Which one of the following words means ‘that
which or one who cannot be matched’

Ans o 1 Unparalleled
/< 2. Resigned
# 3 Confounded
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X 4 Dispensed

Question ID : 541078203
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given below and answer questions that follow.

The wisdom of Birbal was unparalleled. But Akbar’s brother-in-law was
extremely jealous of him. He asked the Emperor fo dispense with Birbal’s
services and appoint him in his place. He gave ample assurance that that
he would prove to be more capable than Birbal. Birbal resigned and left
the palace and Akbar’s brother-in-law was made minister in his place.
‘With a view to testing the new minister, Akbar gave him 300 gold coins
and said, “Spend these gold coins in such a way that I get in return a
hundred gold coins in this life; a hundred gold coins in the other world and
another hundred gold coins neither here nor there.

The new minister, confused and confounded, spent sleepless nights
worrying over how he would get himself out of this mess.

Eventually. on his wife’s advice, he sought Birbal’s help.

Birbal said. “Just give me the gold coins. I will handle the rest.”

SubQuestion No : 95

Qég ‘What can you infer from the last two sentences?

Ans 3 1. That the new minister will find the solution
/X 2. That Birbal will be paid 300 gold coins

E That Birbal will provide the solution to the

problem.
/< 4 That the King will punish his minister

Question ID : 541078204
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the passage given and answer questions that follow.

If we lived on a planet where nothing ever changed. there would be little
to do. There would be no need to study science. If we lived in an
unpredictable world, where things changed at random, or in very complex
ways, we would not be able to figure things outf. Again, there would be no
such thing as science. But we live in an in-between universe, where things
change, but according to patterns, rules or as we call them, laws of nature.
If I throw a stick up in the air, it always falls down. If the sun sets in the
west it always rises again the next morning, in the east. So, it becomes
possible to figure things out.

Human beings are good at understanding the world. We always have been.
We were able to hunt game or build fires only because we had figured
something out. There was a time before television. before motion pictures,
before radio, before books... the greatest part of human existence was
spent in such a time. Over the dying embers of the campfire. on a
moonless night, we watched the stars. The night sky is interesting. There
are patterns there. Without even trying, you can imagine pictures.

SubQuestion No: 96

Qég Which expression used in the passage suggests that
the task referred to is easy?

Ans 3 1. It becomes possible
X 2 Always have been
« 3 Without even trying
X 4 The greatest part

Question ID : 541078208
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given and answer questions that follow.

If we lived on a planst where nothing ever changed, there would be little
to do. There would be no need to study science. If we lived in an
unpredictable world, where things changed at random, or in very complex
ways, we would not be able to figure things out. Again, there would be no
such thing as science. But we live in an in-between universe. where things
change, but aceording to patterns, rules or as we call them. laws of nature.
If I throw a stick up in the air, it always falls down. If the sun sets in the
west it always rises again the next morning, in the east. So, it becomes
possible to figure things out.

Human beings are good at understanding the world. We always have been.
We were able to hunt game or build fires only because we had figured
something out. There was a time before television. before motion pictures,
before radio, before books... the greatest part of human existence was
spent in such a time. Over the dying embers of the campfire, on a
moonless night, we watched the stars. The night sky is interesting. There
are patterns there. Without even trving, you can imagine pictures.

SubQuestion No : 97
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@° The best thing about the sky at night is that we can

Ans 3 1. enjoy the beauty

X 2 see the stars
/< 3. feel the cool air

« 4 imagine pictures

Question ID : 541078207
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given and answer questions that follow.

If we lived on a planet where nothing ever changed, there would be little
to do. There would be no need to study science. If we lived in an
unpredictable world, where things changed at random. or in very complex
ways, we would not be able to figure things ouf. Again. there would be no
such thing as science. But we live in an in-between universe. where things
change, but according to patterns. rules or as we call them. laws of nature.
If I throw a stick up in the air. it always falls down. If the sun sets in the
west it always rises again the next moming, in the east. So, it becomes
possible to figure things out.

Human beings are good at understanding the world. We always have been.
We were able to hunt game or build fires only because we had figured
something out. There was a time before television, before motion pictures,
before radio, before books... the greatest part of human existence was
spent in such a time. Over the dying embers of the campfire, on a
moonless night, we watched the stars. The night sky is interesting. There
are patterns there. Without even trying, vou can imagine pictures.

SubQuestion No : 98

Q° The writer suggests that science

Ans 3¢ 1. is exciting to study
o 2 isuseful in understanding the world
& 3 cannot be studied
& 4 need not be studied

Question ID : 541078209
Status : Not Answered
Chosen Option : --

Comprehension:
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Read the passage given and answer questions that follow.

If we lived on a planet where nothing ever changed. there would be little
to do. There would be no need to study science. If we lived in an
unpredictable world, where things changed at random, or in very complex
ways, we would not be able to figure things outf. Again, there would be no
such thing as science. But we live in an in-between universe, where things
change, but according to patterns, rules or as we call them, laws of nature.
If I throw a stick up in the air, it always falls down. If the sun sets in the
west it always rises again the next morning, in the east. So, it becomes
possible to figure things out.

Human beings are good at understanding the world. We always have been.
We were able to hunt game or build fires only because we had figured
something out. There was a time before television. before motion pictures,
before radio, before books... the greatest part of human existence was
spent in such a time. Over the dying embers of the campfire. on a
moonless night, we watched the stars. The night sky is interesting. There
are patterns there. Without even trying, you can imagine pictures.

SubQuestion No: 99
Qég This passage is most likely to be written by
a teacher of
Ans % 1. history
W 2 science
< 3 art
< 4 philosophy

Question ID : 541078210
Status : Not Answered
Chosen Option : --

Comprehension:

Read the passage given and answer questions that follow.

If we lived on a planet where nothing ever changed. there would be little
to do. There would be no need to study science. If we lived in an
unpredictable world, where things changed at random, or in very complex
ways, we would not be able to figure things out. Again, there would be no
such thing as science. But we live in an in-between universe. where things
change, but according to patterns, rules or as we call them, laws of nature.
If I throw a stick up in the air, it always falls down. If the sun sets in the
west it always rises again the next morning. in the east. So, it becomes
possible to figure things out.

Human beings are good at understanding the world. We always have been.
We were able to hunt game or build fires only because we had figured
something out. There was a time before television. before motion pictures,
before radio, before books... the greatest part of human existence was
spent in such a time. Over the dying embers of the campfire, on a
moonless night, we watched the stars. The night sky is interesting. There
are patterns there. Without even trying, you can imagine pictures.

SubQuestion No: 100
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00
Ans 3¢ 1. unpredictable
& 2 random
X 3 irregular

« 4 unchanging

@1 The rules this planet follows are :

Question ID : 541078206
Status : Not Answered
Chosen Option : --

https://www.freshersnow.com/previous-year-question-papers/



https://www.exammix.com

